1 Two pipes P and Q can separately fill a cistern in 12 minutes and 18 minutes respectively. In how many minutes can both pipes fill the cistern, if opened together?
(A) 
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(B) 6
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(C) 4
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(D) 5
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2 Two pipes A and B can fill a tank in 27 minutes and 45 respectively. A waste pipe C can empty the tank in 30 minutes. First pipes A and B are opened. After 9 minutes C is also opened. In how much time will the tank be full?
(A) 25 min.
(B) 26 min.
(C) 27 min.
(D) 28 min.
3 A reservoir takes 20 makes minutes to get filled pipes. Due to a leak 
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 part of water leaks out. Find the actual filling time of reservoir.
(A) 26
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(B) 26
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(C) 26
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(D) 26
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4 Two pipes A and B can separately fill a cistern in 12 and 15 minutes respectively while a third pipe C can empty it in 10 minutes. How long will it take to fill the cistern if all the pipes are opened simultaneously?

(A) 17 min.
(B) 18 min.
(C) 19 min.
(D) 20 min.
5 Two pipes X and Y can fill a cistern in 24 minutes and 32 minutes respectively. If both the pipes are opened together, then after how much time should Y be closed so that the cistern is full in 18 minutes?

(A) 8 min.
(B) 9 min.
(C) 10 min.
(D) 11 min.

6 Two pipes van fill a cistern separately in 1 minute and 
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 minutes respectively. Both were opened simultaneously. 30 seconds later, the first pipe was closed. In how many minutes will the entire cistern be filled?
(A) 47 sec.
(B) 48 sec.
(C) 49 sec.
(D) 50 sec.

7 A tank takes 15 minutes to get filled up by a filling pipe, but takes 3 minutes extra due to a leak in the bottom. Find the time taken by the empty the tank.

(A) 71 min.
(B) 80 min.
(C) 90 min.
(D) 97 min.
8 A pipe fills 
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 of a tank in 10 min. In what time would it fills 
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 pf the tank?

(A) 20 min.
(B) 25 min.
(C) 30 min.
(D) 35 min.

9 Three pipes A, B and C are attached to a cistern. A and B can fill it in 20 and 30 minutes respectively, while C can empty it in 15 minutes. If A, B and C be kept open successively for 1 minutes each, how soon will the cistern be filled?

(A) 176 min.
(B) 186 min.
(C) 167 min.
(D) 187 min.
10 Two pipes A and B can separately fill a cistern in 30 minutes and 15 minutes respectively and a third exhaust pipe C can drain off 30 litres of water per minute. If all the three pipes are opened, it takes 15 minutes to fill the cistern with water. Find the capacity of the cistern.

(A) 800 litres
(B) 900 litres
(C) 1000 litres
(D) 1100 litres
11 A cistern has three pipes X, Y and Z. X and Y are filler pipes used in filling the tank in 4 and 5 hours respectively. Z is an exhaust pipe which empties it in 2 hours. If the pipes are opened in order at 4 a.m., 5 a.m., and 6 a.m. respectively, when will the cistern be empty?

(A) 6 p.m
(B) 7 p.m
(C) 8 p.m
(D) 9 p.m

12 A leak in the bottom of a tank can empty the full tank in 6 hours. An inlet pipe fills water at the rate of 4 litres per minute. When the tank is full, the inlet is opened and due to the leak the tank is emptied in 8 hours. The capacity of the tank is

(A) 5260 ltrs
(B) 5760 ltrs
(C) 5846 ltrs
(D) 6970 ltrs

13 To fill a cistern pipes A, B and C take 20 minutes, 15 minutes and 12 minutes respectively. The time, in minutes, that the three pipes together will take to fill the cistern is


(A) 12

(B) 15

(C) 10

(D) 5

14
Two pipes A and B can separately fill a tank in 12 minutes and 15 minutes 
respectively. Both the pipes are opened together but 4 minutes after the start the 
pipe A is turned off. How much time will it take to fill the tank?

(A) 9 min.
(B) 10 min.
(C) 11 min.
(D) 12 min.

15 If two pipes function simultaneously, a reservoir will be filled in 12 hours. One pipe fills the reservoir 10 hours faster than the other. How many hours does the faster pipe take to fill the reservoir?

(A) 25 hours
(B) 28 hours
(C) 20 hours
(D) 35 hours

16 A filter pipe can fill 
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 of a cistern in 10 minutes; can it fill 
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of the cistern?


(A) 36 min.
(B) 37 min.
(C) 33 min.
(D) 37.5 min.

17
One filler is 5 times faster than the other and takes 48 minutes less than the other 
pipe to fill a tank. In how many minutes would the tank be full if both the pipes 
are opened?

(A) 16 min
(B) 10 min
(C) 12 min
(D) 9 min

18
There is a leak in the bottom of a cistern. Before the leak, it could be filled in 
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hours, it now takes 
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hour longer. If the cistern is full, the time taken to empty the 
cistern would be


(A) 24 hours
(B) 28 hours
(C) 30 hours
(D) 35 hours
19
Two pipes can separately fill a tank in 20 hours and 30 hours respectively. Both 
the pipes are opened to fill the tank but when the tank is full, a leak develops in 
the tank through which one third of water supplied by both the pipes goes out. 
What is the total time taken to fill the tank?


(A) 18 hours
(B) 16 hours
(C) 15 hours
(D) 12 hours

20 Two pies X and Y can fill a cistern in 20 minutes and 30 minutes respectively. A third pipe Z can empty it in 40 minutes. How long would it take to fill the cistern if all the three pipes are opened at the same time?

(A) 18 min
(B) 16 min
(C) 
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(D) 
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An outlet pipe can empty 
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 of a cistern in 12 minutes. In 8 minutes, what part 
of the cistern will be emptied?


(A) 
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(B) 
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(C) 
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(D) 
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A pipe can fill a cistern in 12 minutes and another pipe can fill it in 15 minutes. 
But a third pipe can empty it in 6 minutes. The first two pipes are kept open for 5 
minutes in the beginning and then the third pipe is also opened. In what time is 
the cistern emptied?

(A) 30 min
(B) 33 min
(C) 
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min
(D) 45 min

23
Two pipes A and B can separately fill a tank in 12 minutes and 15 minutes 
respectively and a third pipe C can drain off 45 litres of water per minute. If all 
the pipes are opened, the tank can be filled in 15 minutes. What is the capacity of 
the tank?


(A) 480 litres
(B) 540 litres
(C) 600 litres
(D) 675 litres

24 Two filler pipes X and Y can separately fill a tank in 45 and 40 minutes respectively. They start to fill the tank together but pipe X is turned off after a few minutes and pipe Y fills the rest of the tank in 23 minutes. After how many minutes is pipe X turned off?

(A) 10 min.
(B) 9 min.
(C) 6 min.
(D) 8 min.

25 A tap can fill a cistern in 6 hours, but due to a leakage at the bottom of the cistern, it takes 
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 hours more to fill it. If the cistern is full and the tap is turned off, in what time will the leakage empty the cistern?

(A) 24 hours
(B) 26 hours
(C) 27 hours
(D) 30 hours

26 Two pipes A and b can separately fill a cistern in 10 minutes and 15 minutes respectively. A person opens both the pipes together. When the cistern should have been full he finds the waste pipe open. He then closes the waste pipe and in another 4 minutes the cistern was full. In what time can the waste pipe empty the cistern when full?

(A) 7 min.
(B) 8 min.
(C) 9 min.
(D) 10 min.

27 Two pipes X and Y can separately fill a cistern in 18 hours and 24 hours respectively. If they are turned on alternately for one hour each, how long will it take to fill the cistern?


(A) 20 hrs30min. (B) 24 hours(C) 18hrs30min. (D) 16 hours
28 A tank can be filled by pipes X and Y in 
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 hours. Both of them are opened for 
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 hours and then Y is closed. X alone now requires 
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 hours more to fill the tank. The time required by X to fill the tank alone will be

(A) 8 hours
 (B) 10 hours
(C) 9 hours
 (D) 8.5 hours

29 Six pies are fitted to a tank. Some of these are filler pipes and some are outlet pipes. Each filler pipe can fill the tank in 8 hours and each outlet pipe can drain off the water in 12 hours. On opening all the pipes, an empty is filled in 3 hours. The number of filler pipes is

(A) 4

 (B) 3

(C) 6

 (D) 2

30 A tap can fill a tank in 16 minutes and another can empty it in 8 minutes. If the tank is already 
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 full and both the taps are opened together will the tank be filled or emptied? How long will it take before the tank is either filled completely or emptied completely as the case may be?

(A) Emptied, 8min (B) Filled, 8 min (C) Emptied, 12 min (D) Filled, 12 min
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